
NETTI 4U|FA 
 

Spare parts catalogue
Version 0109 ENG

NO. Date Rev.
SP166 03.07.09 0



INDEX

Produced by:
Alu Rehab AS, Bedriftsveien 23, NO-4352 Klepp stasjon, Norway
Phone: + 47 51 78 62 20 - Fax + 47 51 78 62 21
E-mail: post@alurehab.com - www.alurehab.com

Frame
3	 Seat plate

Backrest
4	 Backrest
5	 Fixed backrest plate aluminium
6	 Backrest extender
6	 Push handles

Head support
7	 Head supports - complete
8	 Head support A - accessories
9	 Head support B - accessories
10	 Head support C - accessories
11	 Head support stabilizer 
11	 Head pillow with rubber band
11	 Head cushion Cospoflex

Arm support
12	 Arm support
12	 Comfort pads
13	 Arm support pads
13	 Hemi arm support
13	 Hemi cushion

Foot supports
14	 Extension piece - foot support
15	 Extension piece - accessories
16	 Angle adjustable foot supports 
17	 Angle adjustable foot supports - parts
19	 Foot support with reinfoirced
19	 Foot support with gas
20	 Calf support pad hinged
20	 Calf support bracket upholstery
21	 Amputation support
22 	 Foot box upholstered
22	 Foot board

Wheels
23	 Front castor
24	 Brake
25	 Main wheels
27	 Spoke protectors

Gas cylinders
28	 Gas cylinders

Anti tip
29	 Anti tip standard
29	 Anti tip with pedal

Support and correction
30	 Side support Correction
31	 Side support Stabil

Trays
32	 Universal tray hinged
32	 Universal tray with lock
33	 Universal tray standard
33	 Universal tray standard for reading tray
33	 Reading tray
34	 Tray upholstery

Belts
35	 H-Belt
35 	 H-Belt adapter
36	 Hip belt 

Miscellaneous
37	 Multi rack
37	 Eye bolt for transport

Cushions
38	 Seating system FA Backrest
39	 Seating system FA Seat cushion
40 	 Backrest cushion UNO|Back
41	 Backrest cushion VB Smart
42	 Backrest cushion VB Stabil
43	 Backrest cushion VB Super Stabil
44	 Seat cushion UNO|Seat 
46	 Seat cushion VB Sit
48	 Seat cushion VB Royal
49	 Seat cushion VB Venti
50	 Seat cushion Bondi Coxit 3D



Position Description Item no. Pcs. pr. chair Price

     1 Seat cover 40827 1

     2 Seat plate complete (chair width 35 -44 cm) 40896 1

     2 Seat plate complete (chair width 44 - 53 cm) 40646 1

     3* Screw M6x55 B26482    2

     4* Screw M6x25 B23877 8

     5* Distance sleeve 26325 4

     6* Distance sleeve 26355 2

     7* Screw M8x40 21095 4

 * Part of our service concept. 

 

Seat plate

-3- 

2

3

4

5

6

1

7

Position Description Item no. Pcs. pr. chair Price
1 Seat cover 40827 1
2 Seat plate cmpl. (chair width 35-44cm) 40896 1
2 Seat plate cmpl. (chair width 44-53cm) 40646 1
3* M6x55 Hex Socket CTSK Head ISO 10642 B26482 2
4* M6x25 Hex Socket CTSK Head ISO 10642 B23877 8
5* Spacer D10x10 26325 4
6* Spacer D24x40 26355 2
7* M8x40 Hex Socket Head ISO 4762 21095 4

NO. Date Rev.
SP157 09.06.09 0



Position Description Item no. Pcs. pr. chair Price

     1 Back 35-44cm cmpl. 41273 1

     1 Back 44-53cm cmpl. 40639 1

     2 Velcro 35-50cm 20699 1

     3 Cylinder hinge cmpl. 29100 1

     4 Backrest hinge 40636 2

     5 Backrest push bar bracket cmpl. 27237 2

     6* Clamp lever M6x16 20097 3

     7* Plug 25x15 21847 2

     8 Release handle right 20463 1

     9 Release handle left 20464  1

     10 Head support adapter cmpl. 23005 1

     11* Square nut M6 20296 9

     12* M6x40 Hex Socket Head ISO 4762 20431 4

 * Part of our service concept. 

Backrest

-4- 

1

3

5

5

6

6

7

7

8

9

10

6

4

4

11

12

2

Position Description Item no. Pcs. pr. chair Price
1 Back 35-44cm cmpl. 41273 1
1 Back 44-53cm cmpl. 40639 1
2 Velcro 35-50cm 20699 1
3 Cylinder hinge cmpl. 29100 1
4 Backrest hinge 40636 2
5 Backrest push bar bracket cmpl. 27237 2
6 Clamp lever M6x16 20097 3
7 Plug 25x15 21847 2
8 Release handle right 20463 1
9 Release handle left 20464 1

10 Head support adapter cmpl. 23005 1
11 Square nut M6 20296 9
12 M6x40 Hex Socket Head ISO 4762 20431 4

NO. Date Rev.
SP159 10.06.09 0



Position Description Item no. Pcs. pr. chair Price

1 Fixed backrest plate aluminium W: 35-45 cm H: 48 cm 27700 1

1 Fixed backrest plate aluminium W: 35-45 cm H: 60 cm 27701 1

1 Fixed backrest plate aluminium W: 50-60 cm H: 48 cm 27702 1

1 Fixed backrest plate aluminium W: 50-60 cm H: 60 cm 27703 1

Fixed backrest plate aluminium

-5- 

1

NO. Date Rev.
SP140 19.12.07 A

Position Description Item no. Pieces per chair
1 Aluminium back 27700 1



Position Description Item no. Pcs. pr. chair Price

 1 Backrest extender complete, Square tubes 24036  1

Backrest extender

Position Description Item no. Pcs. pr. chair Price

1 Push handle standard 300 mm complete 21754  2

1 Push handle long 500 mm complete 21808  2

2* Lock nut M6 20058  2

3* Screw M6x25 20992  2

-6- 

12

3

NOTE:

Rubber grip are glued to the profile and
can't be purchase separate.
(reference to the safety code).

* Available on request

NO. Date Rev.
SP132 11.12.07 B

Position Description item no. Pieces per chair
1 Driving handle 300 mm cmpl 21754 2
1 Driving handle 500 mm cmpl 21808 2

  2 * Nut M6 20058 2
  3 * Screw M6x25 20992 2



Position Description Item no. Pcs. pr. chair Price

- Head support A Standard 3D 40880 1

- Head support A Standard EasyCare 28382 1

- Head support B Standard 3D 40881 1

- Head support B Standard EasyCare 28383 1

- Head support C Standard 3D 40882 1

- Head support C Standard EasyCare 28384 1

Head supports - complete

Position Description Item no. Pcs. pr. chair Price

1 Push handle standard 300 mm complete 21754  2

1 Push handle long 500 mm complete 21808  2

2* Lock nut M6 20058  2

3* Screw M6x25 20992  2

-7- 

1

2

3

3 3

3 8 4.8X16 body screw 20420 DIN 7981 POZ
2 1 Plywood w/pillow 3D head support A 41955 312259
1 1 Headsupport A China level 27284 311609

Pos. Qty. Name Item no. Drawing Material

40880 312260

 

 
 

 

This drawing is Alu Rehab A.S property and should not be copied or delivered to other firms or agents without our permission.

DO NOT SCALE DRAWING APPROVALS TITLE

REPLACED FOR

SIZE

DATE
DRAWN

FINISH

TREATMENT

SCALE

MATERIAL

PROJECTION

Bedriftsveien 23, N-4353 Klepp Stasjon
Tel.: +47 51786220 Fax.: +47 51786221

DWG NO.

REPLACED BY

ITEM NO.

Tolerance for
non-tolerance
ISO 2768-m

  
1:3

 

  
 Head support A 3D cmpl.

812.09 g

A3

  WEIGHT

CREATED DATE

26.05.2008st
CHECKED

 

3

1

4

4

2

4 4 4.8X16 body screw 20420 DIN 7981 POZ
3 1 Plywood w/pillow 3D head support B 41956 312261
2 1 Plasticover headrest B 20868 215124 ABS
1 1 Headsupport rack 27286 311610

Pos. Qty. Name Item no. Drawing Material

40881 311262

 

 
 

 

This drawing is Alu Rehab A.S property and should not be copied or delivered to other firms or agents without our permission.

DO NOT SCALE DRAWING APPROVALS TITLE

REPLACED FOR

SIZE

DATE
DRAWN

FINISH

TREATMENT

SCALE

MATERIAL

PROJECTION

Bedriftsveien 23, N-4353 Klepp Stasjon
Tel.: +47 51786220 Fax.: +47 51786221

DWG NO.

REPLACED BY

ITEM NO.

Tolerance for
non-tolerance
ISO 2768-m

  
1:3

 

  
Head support B 3D cmpl.

  g

A3

  WEIGHT

CREATED DATE

27.05.2008st
CHECKED

 

1

2

3

3

3 8 4.8X16 body screw 20420 DIN 7981 POZ
2 1 Plywood w/pillow 3D head support C 41957 312264
1 1 Headsupport C china level 27285 311607

Pos. Qty. Name Item no. Drawing Material

40882 312265

 

 
 

 

This drawing is Alu Rehab A.S property and should not be copied or delivered to other firms or agents without our permission.

DO NOT SCALE DRAWING APPROVALS TITLE

REPLACED FOR

SIZE

DATE
DRAWN

FINISH

TREATMENT

SCALE

MATERIAL

PROJECTION

Bedriftsveien 23, N-4353 Klepp Stasjon
Tel.: +47 51786220 Fax.: +47 51786221

DWG NO.

REPLACED BY

ITEM NO.

Tolerance for
non-tolerance
ISO 2768-m

  
1:3

 

  
Head support C 3D cmpl.

  g

A3

  WEIGHT

CREATED DATE

27.05.2008st
CHECKED

 

A B C



Position Description Item no. Pcs. pr. chair Price

1 Vertical bar w/tube 200 mm 41401 1

1 Vertical bar w/tube 300 mm (standard) 41402 1

1 Vertical bar w/tube 500 mm 41403 1

2 Head support A, w/balljoint pipe 150 mm (standard) Easy Care 42369 1

2 Head support A, w/balljoint pipe 150 mm (standard) 3D 42370 1

2 Head support A, w/balljoint pipe 250 mm Easy Care 42372 1

2 Head support A, w/balljoint pipe 250 mm 3D 42373 1

2 Head support A, w/balljoint pipe 380 mm Easy Care 42375 1

2 Head support A, w/balljoint pipe 380 mm 3D 42376 1

Hygiene cover Mars Head support A 20126 1

Hygiene cover EasyCare Head support A 27554 1

* Clamp lever M6x30 20282 1

* Washer M6 20063 1

* Star wheel M8 26684 1

* Washer M8 29305 1

* Square plug horisontal bar 20852 1

* Plastic plug vertical bar 20509 1

 * Part of our service concept. 

Head support A - accessories

-8- 

1

2



Position Description Item no. Pcs. pr. chair Price

1 Vertical bar w/tube 200mm complete 41401 1

1 Vertical bar w/tube 300mm (standard) 41402 1

1 Vertical bar w/tube 500mm complete 41403 1

2 Head support B w/balljoint pipe 150 mm (standard) EasyCare 42360 1

2 Head support B w/balljoint pipe 150 mm (standard) 3D 42361 1

2 Head support B w/balljoint pipe 250 mm EasyCare 42363 1

2 Head support B w/balljoint pipe 250 mm 3D 42364 1

2 Head support B w/balljoint pipe 380 mm EasyCare 42366 1

2 Head support B w/balljoint pipe 380 mm 3D 42367 1

Hygiene cover Mars Head support B 20629 1

Hygiene cover EasyCare Head support B 27555 1

* Clamp lever M6x30 20282 1

* Washer M6 20063 1

* Star wheel M8 26684 1

* Washer M8 29305 1

* Square plug horisontal bar 20852 1

* Plastic plug vertical bar 20509 1

 * Part of our service concept. 

Head support B - accessories

-9- 

1
2



Position Description Item no. Pcs. pr. chair Price

 1 Vertical bar w/tube 200mm 41401 1

 1 Vertical bar w/tube 300mm (standard) 41402 1

 1 Vertical bar w/tube 500mm 41403 1

2 Head support C w/ballonjoint pipe 150 (standard), EasyCare 42351 1

2 Head support C w/ballonjoint pipe 150 (standard), 3D 42352 1

2 Head support C w/ballonjoint pipe 250, EasyCare 42354 1

2 Head support C w/ballonjoint pipe 250, 3D 42355 1

2 Head support C w/ballonjoint pipe 380, EasyCare 42357 1

2 Head support C w/ballonjoint pipe 380, 3D 42358 1

Hygiene cover Mars Head support C 20628 1

Hygiene cover EasyCare Head support C 27556 1

* Clamp lever M6x30 20282 1

* Washer M6 20063 1

* Star wheel M8 26684 1

* Washer M8 29305 1

* Square plug horisontal bar 20852 1

* Plastic plug vertical bar 20509 1

 * Part of our service concept. 

Head support C - accessories

-10- 

1

2



Head pillow with rubber band 
Position Description Item no. Pcs. pr. chair Price

 1 Head pillow with rubber band 3950 1

 

Head cushion comfort with Cospoflex 
Position Description Item no. Pcs. pr. chair Price

 1 Head cushion comfort with Cospolflex. Mars Cover. 3952 1

 1 Head cushion comfort with Cospolflex. ClimaTherm Cover. 3955 1

 

Head support fixation & cushions

Position Description Item no. Pcs. pr. chair Price

1 Head support stabilizer for head support C* 21779 1
 * Fixation of head support mounted on horizontal bar.

Head support stabilizer

-11- 



Arm support

Position Description Item no. Pcs. pr. chair Price
1 Comfortpads. Right. 26608 1

1 Comfortpads. Left. Complete. 26609 1

Position Description Item no. Pcs. pr. chair Price

     1 Arm support removeable, complete, right 28147 1

     1 Arm support removeable, complete, left 28148 1

     2 Arm support pad 385x58 PU 20835 2

     3 Cover, Easy care 28267 2

     4* Washer M5 wide 23594 4

     5* Screw M5x35 21323 4

     6* Washer M6 20063 2

     7* Screw M6x12 24272 2

     8* Locking device 25577 2

 * Part of our service concept. 

-12- 

8

6

3

7

5

4

2

1

* Only available in larger quantity in service kit ot refill package

NO. Date Rev.
SP005 25.07.07 B

Position Description Item no. Pieces per chair
1 Arm rest removable R cmpl. 28147 1
1 Arm rest removable L cmpl. 28148 1
2 Armrest pad 385x58 PU 27994 1
3 Cover easy care 28267 1

   4 * Washer M5 wide 23594 4
    5 *  Screw M5x35 21323 4
   6 * Washer M6 20063 2
    7 *  Screw M6x12 24272 2
   8 * Locking device 25577 2



Position Description Item no. Pcs. pr. chair Price

 1 Arm support pad standard 385 x 58 mm 20835 2

 1 Arm support pad 335 x 58 mm 29135 2

 1 Arm support pad long 445 x 68 mm 29136 2

 2 Arm support wide 420 x 80 mm 29137 2

 2 Arm support wide/long 525 x  80 mm 29138 2

 3 Arm support pad with bend 525 x 80 mm 29139 2

 

Arm support pads

Position Description Item no. Pcs. pr. chair Price

 1 Hemi cushion Hareid (Polystyrene & Polyurethane) 3954 1

 1 Hemi cushion Drøbak (Polystyrene) 23998 1

 

Hemi cushion 

Arm support - accessories

Position Description Item no. Pcs. pr. chair Price

 Hemi arm support pad. Right. 20757 1

 Hemi arm support pad. Left. 27583 1

Hemi arm support pad

-13- 

1

2

3

4

NO. Date Rev.
SP130 11.12.07 B

Position Description Item no. Pieces per chair
1 Armrest pad std 385x58 pu 27994 2
1 Armrest pad pu 58x335 29135 2
1 Armrest pad long pu 68x445 29136 2
2 Armrest wide/wide long pu 80 x420 29137 2
2 Armrest wide long 80 x525 29138 2
3 Armrest pad with bend pu. 80x525 29139 2
4 Hemiplegia armrest right long 20757 1
4 Hemiplegia armrest left long 27583 1



Position Description Item no. Pcs. pr. chair Price

     1 Exteinsion piece. Graphite. Right. Complete. 27382 1

     2 Exteinsion piece. Graphite. Left. Complete. 27383 1

     3 Locking bracket with screw. Right. 29555 1

     4 Locking bracket with screw. Left. 29556 1

Extension piece - foot support

-14- 

1

2

3
4

Position Description Item no. Pieces per chair
  1  Extension part R cmpl. Graphite grey 28726 1
 2 Extension part L cmpl. Graphite grey 28727 1
3 Locking bracket R w/screw 29555 1
4 Locking bracket L w/screw 29556 1

 NO. Date Rev.
SP015 25.07.07 B



Position Description Item no. Pcs. pr. chair Price

1 Abduction front right 24109 1

2 Abduction front left 24110 1

Extension piece - accessories

Extension piece - reinforced
Position Description Item no. Pcs. pr. chair Price

1 Extension piece reinforced right* 24167 1

2 Extension piece reinforced left* 24168 1

 * Requires reinforced extension piece. See page 19.

Extension piece - abduction

-15- 

1

2

Position Description Item no. Pieces per chair
1 Abduction front right 24109 1
2 Abduction front left 24110 1

NO. Date Rev.
SP136 14.12.07 A

1

2



Position Description Item no. Pcs. pr. chair Price

1 Angle adjustable foot support. Black. 35 - 44 cm. Right. 41250 1

2 Angle adjustable foot support. Black. 35 - 44 cm. Left. 41251 1

1 Angle adjustable foot support. Black. 44 - 53 cm. Right. 41258 1

2 Angle adjustable foot support. Black. 44 - 53 cm. Left. 41259 1

Angle adjustable foot supports 

-16- 

NO. Date Rev.
SP160 10.06.09 0



Angle adjustable foot supports - parts

-17- 

3

4

5

5

6

7

1

2

8

89

10

11

11

12

12

13

13

14

14

16
16

15

15

25

25
17

17

18

18 19

19
20

20

21

21

22
22

23

23
24

24

NO. Date Rev.
SP160 10.06.09 0



Position Description Item no. Pcs. pr. chair Price

3 Angle adjustable foot support. Black. Right. Easy Care 41762 1

4 Angle adjustable foot support. Black. Left. 3D 41763 1

5 Calf support pad with bracket. 35 - 44 cm 27964 2

5 Calf support pad with bracket. 44 - 53 cm 27966 2

6 Foot plate. 35-44cm. Right. 40831 1

6 Foot plate. 35-44cm. Left. 40832 1

7 Foot plate. 44-53cm. Right. 40833 1

7 Foot plate. 44-53cm. Left. 40834 1

8 Knee upholstery. Easy care. 29683 2

9 Mechanical adjustment piece with screw. Black. Right 29558 1

10 Mechanical adjustment piece with screw. Black. Left 29559 1

11* Foot support locking cone 20539 2

12* Adjustment wheel 27388 2

13* Nut M6 20058 2

14* Screw M6x40 20103 2

15* Nut M8 20761 2

16 Calf support bracket with screw, washer and lock nut 25353 2

17 Foot plate hinge complete 28523 2

18* Washer 20356 2

19* Screw M6x12 24272 2

20* Holder heelstrap. 27919 2

21* Washer 23317 2

22* Screw 4,8x35 27920 2

23* Foot plate spring 27858 2

24* Screw 4,8x13 20534 2

 * Part of our service concept. 

Angle adjustable foot supports - parts

-18- 



Angle adjustable foot supports - accessories

Position Description Item no. Pcs. pr. chair Price

1 Foot support reinforced right 42727 1

2 Foot support reinforced left 42728 1

3 Foot support reinforced with gas right 25458 1

4 Foot support reinforced with gas left 25459 1

Gas cylinder for foot support complete 20315 1

* Foot support plastic release button 20410 1

 * Part of our service concept. ** Requires reinforced extension piece. See page 15.

Foot support reinforced**

Position Description Item no. Pcs. pr. chair Price

1 Foot support with gas right 22216 1

2 Foot support with gas left 22217 1

Gas cylinder for foot support complete 20315 1
 * Comes with artificial leather knee upholstery as standard. Please specify if you require different material. See page 18. 

-19- 

1 432

1 2

**



Calf support pad hinged
Position Description Item no. Pcs. pr. chair Price

1 Calf support pad hinged left 	 35-38 cm 26542 1

1 	 - 	 40-43 cm 26546 1

1  	 - 	 45 cm 26550 1

1  	 - 	 50 cm 26552 1

2 Calf support pad hinged right 	 35-38 cm 26541 1

2  	 -	 40-43 cm 26545 1

2  	 - 	 45 cm 26549 1

2  	 - 	 50 cm 26551 1

	

Calf support bracket upholstery
Position Description Item no. Pcs. pr. chair Price

1 Calf support bracket upholstery 21745 2

Calf support

-20- 

1

2

NO. Date Rev.
SP117 Date A

Position Description Item no. Pieces per chair
1 Pad hinged left 35-38cm cmpl 26542 1
1 Pad hinged left 40-43cm cmpl 26546 1
1 Pad hinged left 45cm cmpl 26550 1
1 Pad hinged left 50cm cmpl 26552 1
1 Pad hinged left 55cm cmpl 26554 1
1 Pad hinged left 60cm cmpl 26556 1
2 Pad hinged right 35-38cm cmpl 26541 1
2 Pad hinged right 40-43cm cmpl 26545 1
2 Pad hinged right 45cm cmpl 26549 1
2 Pad hinged right 50cm cmpl 26551 1
2 Pad hinged right 55cm cmpl 26553 1
2 Pad hinged right 60cm cmpl 26555 1



Amputation support

Position Description Item no. Pcs. pr. chair Price

1 Amputation support left 	 35 cm 22160 1

1 	 -	 38 cm 22161 1

1 	 -	 40 cm 22162 1

1 	 -	 43 cm 22163 1

1 	 -	 45 cm 22164 1

1 	 -	 50 cm 22165 1

1 	 -	 55 cm 22166 1

1 	 -	 60 cm 22167 1

2 Amputation support right 	35 cm 22152 1

2 	 -	 38 cm 22153 1

2 	 -	 40 cm 22154 1

2 	 -	 43 cm 22155 1

2 	 -	 45 cm 22156 1

2 	 -	 50 cm 22157 1

2 	 -	 55 cm 22157 1

2 	 -	 60 cm 22159 1

-21- 

1

2

NO. Date Rev.
SP118 06.12.07 A

Position Description Item no. Pieces per chair
1 Amputation support left 35cm 22160 1
1 Amputation support left 38cm 22161 1
1 Amputation support left 40cm 22162 1
1 Amputation support left 43cm 22163 1
1 Amputation support left 45cm 22164 1
1 Amputation support left 50cm 22165 1
1 Amputation support left 55cm 22166 1
1 Amputation support left 60cm 22167 1
2 Amputation support right 35cm 22152 1
2 Amputation support right 38cm 22153 1
2 Amputation support right 40cm 22154 1
2 Amputation support right 43cm 22155 1
2 Amputation support right 45cm 22156 1
2 Amputation support right 50cm 22157 1
2 Amputation support right 55cm 22158 1
2 Amputation support right 60cm 22159 1



Position Description Item no. Pcs. pr. chair Price

1 Foot board with lock, 35 cm 25701 1

1 Foot board with lock, 38 cm 25702 1

1 Foot board with lock, 40 cm 25703 1

1 Foot board with lock, 43 cm 25704 1

1 Foot board with lock, 45 cm 25705 1

1 Foot board with lock, 50 cm 25706 1

Foot box & foot board

Position Description Item no. Pcs. pr. chair Price

1 Foot box complete 	 35 cm* 23336 1

1 	 -	 38 cm* 23337 1

1 	 -	 40 cm* 23338 1

1 	 -	 43 cm* 23339 1

1 	 -	 45 cm* 23340 1

1 	 -	 50 cm* 23341 1

 *When ordering foot box, remember to inform which foot support it should be fitted to (Angle adjustable or 
   Universal). These have to be prepared for usage.

-22- 

1

1

Position Description Item no. Pieces per chair
1 Footcase cmpl 35cm 23336 1
1 Footcase cmpl 38cm 23337 1
1 Footcase cmpl 40cm 23338 1
1 Footcase cmpl 43cm 23339 1
1 Footcase cmpl 45cm 23340 1
1 Footcase cmpl 50cm 23341 1
1 Footcase cmpl 55cm 23342 1
1 Footcase cmpl 60cm 23343 1

NO. Date Rev.
SP135 16.01.09 B



Front castor

Position Description Item no. Pcs. pr. chair Price

1 Long fork 2 holes with 7” front castor complete 28483 2

1 Medium fork 2 holes with 6” front castor complete 41544 2

1 Medium fork 2 holes with 5” front castor complete 41547 2

2 Long fork 2 holes complete (for 7”) 28486 2

2 Medium fork 2 holes complete (for 5” & 6”) 41554 2

3 Front castor 7” 20976 2

3 Front castor 6” 20817 2

3 Front castor 5” 20814 2

4* Screw M8 x 65 20419 2

5* Washer M8 20068 4

6* Lock nut M8 20412 2

 * Part of our service concept. 

-23- 

2

3

5

6

4

1

* Only available in lager quantity in service kit or refill package

NO. Date Rev.
SP012 25.07.07 B

Position Description Item no. Pieces per chair
1 Front fork w/ 7" wheel cmpl. 28483 2
2 Front fork 28486 2
3 7" wheel 20976 2

   4 *  Screw M8x65 20419 2
   5 *  Washer M8 20068 4
   6 *  Lock nut M8 20412 2



Position Description Item no. Pcs. pr. chair Price

      1 Brake, left 41893        1

      2 Brake, right 41892        1

	

Brake

-24- 

1

2

Position Description Item no. Pcs. pr. chair Price
1 Brake w/large friction cylinder. Right. 41892 1
2 Brake w/large friction cylinder. Left. 41893 1

NO. Date Rev.
SP161 11.06.09 0



Position Description Item no. Pcs. pr. chair Price
1 Main wheel 24”x1” with drumbrake 43103 2

2 Main wheel 24”x1” 43102 2

2 Main wheel 22”x1” 43100 2

2 Main wheel 20”x1” 43104 2

3 Backing plate side A w/attachment cmplete 40794 1

4 Backing plate side B w/attachment cmplete 40796 1

5 Adjustable attachment for main wheel without drumbrake cmpl. 42073 2

6 Quick release D12x123 27575 2

7 Push rim 24” Plastic 20450 2

8 Screw (6 pcs.) & distance sleeves (6 pcs.) - kit 21111 2

9 Wire 1170/1370 41311 2

10 Brake handle 41313 2

Main  wheels

-25- 

1

2

3

4

5

6 6

6

8
8

7

7

8

8

9
10

Position Description Item no. Pcs. pr. chair Price
1 Main wheel 24"x1" w/drumbrake. 24223 2
2 Main wheel 24"x1" 24967 2
3 Backing plate side A w/attachment cmpl. 40794 1
4 Backing plate side B w/attachment cmpl. 40796 1
5 Adjustable attachment for main wheel without drumbrake cmpl. 42073 2
6 Quick release D12x123 27575 2
7 Push rim 24" Plastic 20450 2
8 Screw (6 pcs.) distance sleeves (6 pcs.) -kit. 21111 2
9 Wire 1170/1370 41311 2

10 Brake handle 41313 2

NO. Date Rev.
SP162 11.06.09 0



Main wheels

Position Description Item no. Pcs. pr. chair Price
1 12” Main wheel w/drumbrake -kit. 42918 1

2 16” Main wheel w/drumbrake -kit. 42913 1

3 Wire 1170/1370 41311 2

4 Brake handle 41313 2

-26- 

1

2

3

3

4

4

Position Description Item no. Pcs. pr. chair Price
1 12" Main wheel w/drumbrake -kit. 42918 1
2 16" Main wheel w/drumbrake -kit. 42913 1
3 Wire 1170/1370 41311 2
4 Brake handle 41313 2

NO. Date Rev.
SP163 11.06.09 0



Spoke protector

Position Description Item no. Pcs. pr. chair Price

1 Spoke protector lightning 	 20” 27050 2

1 	 -	 22” 27051 2

1 	 -	 24” 27052 2

1  	 -	 26” 27053 2

1 Spoke protector Blue Bat 	 20” 27054 2

1  	 -	 22” 27055 2

1  	 -	 24” 27056 2

1  	 -	 24” 27056 2

1 Spoke protector Feet 	 20” 27058 2

1  	 -	 22” 27059 2

1  	 -	 24” 27060 2

1 Spoke protector Tiger 	 20” 27062 2

1  	 -	 22” 27063 2

1  	 -	 24” 27064 2

1  	 -	 26” 27065 2

1 Spoke protector Energy 	 20” 27066 2

1  	 -	 22” 27067 2

1 	 -	 24” 27068 2

1 	 -	 26” 27069 2

1 Spoke protector Spider 	 20” 27070 2

1  	 -	 22” 27071 2

1  	 -	 24” 27072 2

1  	 -	 26” 21073 2

1 Spoke protector Transparent	 20” 24143 2

1 	 -	 22” 24144 2

1  	 -	 24” 24145 2

1  	 -	 26” 24146 2

-27- 

1

NO. Date Rev.
SP138 17.12.07 A

Position Description Item no. Pieces per chair
1 Spoke protector 20" Lightning 27050 2
1 Spoke protector 22" Lightning 27051 2
1 Spoke protector 24" Lightning 27052 2
1 Spoke protector 26" Lightning 27053 2
1 Spoke protector 20" Blue Bat 27054 2
1 Spoke protector 22" Blue Bat 27055 2
1 Spoke protector 24" Blue Bat 27056 2
1 Spoke protector 26" Blue Bat 27057 2
1 Spoke protector 20" Feet 27058 2
1 Spoke protector 22" Feet 27059 2
1 Spoke protector 24" Feet 27060 2
1 Spoke protector 20" Tiger 27062 2
1 Spoke protector 22" Tiger 27063 2
1 Spoke protector 24" Tiger 27064 2
1 Spoke protector 26" Tiger 27065 2
1 Spoke protector 20" Energy 27066 2
1 Spoke protector 22" Energy 27067 2
1 Spoke protector 24" Energy 27068 2
1 Spoke protector 26" Energy 27069 2
1 Spoke protector 20" Spider 27070 2
1 Spoke protector 22" Spider 27071 2
1 Spoke protector 24" Spider 27072 2
1 Spoke protector 26" Spider 27073 2
1 Spoke protector 20" Black 20646 2
1 Spoke protector 22" Black 20636 2
1 Spoke protector 24" Black 20626 2
1 Spoke protector 20" Transparence 24143 2
1 Spoke protector 22" Transparence 24144 2
1 Spoke protector 24" Transparence 24145 2
1 Spoke protector 26" Transparence 24146 2



Gas cylinders

Position Description Item no. Pcs. pr. chair Price

1 Gas cylinder back 40787 w/wire 43135 1

2 Gas cylinder back w/ short and long locking head 40787 1

3 Gas cylinder tilt 28442 w/wire 43134 1

4 Gas cylinder tilt 28442 1
5 Wire 1300/1450 w/clamp and spring 43133 2
- Tilt restrictor 4U 29474 1
- Recline restrictor 20011 1

-28- 

1

2

4

3

5

Position Description Item no. Pcs. pr. chair Price
1 Gas cylinder back 40787 w/wire 43135 1
2 Gas cylinder back w/ short and long locking head 40787 1
3 Gas cylinder tilt 28442 w/wire 43134 1
4 Gas cylinder tilt 28442 1
5 Wire 1300/1450 w/clamp and spring 43133 2

NO. Date Rev.
SP158 10.06.09 0



Position Description Item no. Pcs. pr. chair Price
1 Anti tip standard complete Netti 4U 24” 28018 2

1 Anti tip standard complete Netti 4U 22” 28816 2

2* Spring 26783 2

3* Lock pin 26844 2

4* Anti tip end plug 28012 2

5* Screw M6 x 20 23316 2

 * Part of our service concept. 

Anti tip

Position Description Item no. Pcs. pr. chair Price

1 Anti tip with pedal complete Netti 4U 22”/24” 28972 2

1 Anti tip with pedal complete Netti 4U 20” 41818 2

2* Spring 26783 2

3* Lock pin 26844 2

 * Part of our service concept. 

1

2 3

* Only available in larger quantity in service kit or refill package

NO. Date Rev.
SP010 26.02.08 D

Position Description Item no. Pieces per chair
1 Anti tip w/tilt pedal Netti 4U CE/CED 28972 2

    2 *  Spring 26783 2
    3 *  Locking pin 26844 2

-29- 

2 3

4

5

* Only available in larger quantity in service kit or in refill package

1

NO. Date Rev.
SP009 26.02.08 C

Position Description Item no. Pieces per chair
1 Anti tip cmpl. 28018 2

    2 *  Spring 26783 2
    3 *  Locking pin 26844 2
    4 *  Anti tip end plug 28012 2
    5 *  Screw M6x20 23316 2



Side support Correction

Position Description Item no. Pcs. pr. chair Price

1 Side support Correction left 27374 1

2 Side support Correctionsright 27375 1

3 Pad side support Correction 27542 2

-30- 

1

3

2

3

NO. Date Rev.
SP057 10.09.07 A

Position Description Item no. Pieces per chair
1 Side support correction left 27374 1
2 Side support correction right 27375 1
3 Pad side support correction 27542 2



Side  support Stabil

Position Description Item no. Pcs. pr. chair Price

1 Side support Stabil Right 26843 1

2 Side support Stabil Left 26830 1

3 Pad Stabil 27541 2

-31- 



Position Description Item no. Pcs. pr. chair Price

1 Universal tray hinged complete 	 medium 35-40 cm 15140 1

1 	 -	 large 43-50 cm 15141 1

Universal trays

Position Description Item no. Pcs. pr. chair Price

1 Universal tray with lock	 medium 35-40 cm 15124 1

1 	 -	 large 43-50 cm 15125 1

-32- 



Universal trays

Universal Tray standard
Position Description Item no. Pcs. pr. chair Price

1 Universal tray standard 	 Medium 35-40 cm 15100

1 	 -	 Large 43-50 cm 15101

Universal tray standard for reading tray
Position Description Item no. Pcs. pr. chair Price

1 Universal tray standard for reading tray 	 Medium 35-40 cm 15075

1 	 -	 Large 43-50 cm 15076

Reading tray
Position Description Item no. Pcs. pr. chair Price

1 Reading table 	 Medium 35-43 cm 15003 1

1 Reading table 	  Large 43-50 cm 15004 1

-33- 



Tray upholstery

Position Description Item no. Pcs. pr. chair Price

1 Tray upholstery right SW 25-43 cm 15042 1

2 Tray upholstery left SW 25-43 cm 15043 1

1 Tray upholstery right SW45-50 cm 15040 1

2 Tray upholstery left SW45-50 cm 15041 1

-34- 

1

2

NO. Date Rev.
SP106 23.11.07 A

Position Description Item no. Pieces per chair
1 Table pad right 15042 1
2 Table pad left 15043 1



H-belt
Position Description Item no. Pcs. pr. chair Price

1 H-belt upholstered with car lock 20881 1

H-belt

H-belt adapter
Position Description Item no. Pcs. pr. chair Price

1 H-belt adapter 25-38 cm 25949 1

1 H-belt adapter 40-60 cm 25441 1

-35- 

1

NO. Date Rev.
SP070 02.10.07 A

Position Description Item no. Pieces per chair
1 H-belt upholstered with car lock 20881 1



Position Description Item no. Pcs. pr. chair Price

1 Hip belt complete with car lock 20844 1

2 Hip belt complete with pad and car lock 20845 1

Hip belt 

-36- 

2

1

NO. Date Rev.
SP098 24.10.07 A

Position Description Item no. Pieces per chair
1 Hip belt cmpl with car lock 20844 1
2 Hip belt cmpl with pad and car lock 20845 1

2

1

NO. Date Rev.
SP098 24.10.07 A

Position Description Item no. Pieces per chair
1 Hip belt cmpl with car lock 20844 1
2 Hip belt cmpl with pad and car lock 20845 1



Position Description Item no. Pcs. pr. chair Price

1 Multi rack 29463 1

Miscellaneous

Position Description Item no. Pcs. pr. chair Price

1 Eye bolt attachment for transport in car (pair) 21974 2

-37- 

1

NO. Date Rev.
SP134 12.12.07 A

Position Description Item no. Pieces per chair
1  Intravenous rack 24037 1



Seating system FA Backrest

Position Description Item no. Pcs. pr. chair Price

1 Backrest cushion adjustable 35 - 44 cm complete 41349 1

1 Backrest cushion adjustable 44 - 53 cm complete 41350 1

2 Backrest cushion cover with velcro 35 - 44 cm. Centre. 41843 1

2 Backrest cushion cover with velcro 44 - 53 cm. Centre. 41343 1

3 Backrest cushion cover with velcro. Right. 41341 1

4 Backrest cushion cover w/velcro. Left. 41342 1

-38- 

1

2

3

4

Position Description Item no. Pcs. pr. chair Price
1 Backrest cushion adjustable 35-44cm cmpl. 41349 1
1 Backrest cushion adjustable 44-53cm cmpl. 41350 1
2 Backrest cushion cover w/velcro 35-44cm. Centre. 41843 1
2 Backrest cushion cover w/velcro 44-53cm. Centre. 41343 1
3 Backrest cushion cover w/velcro. Right. 41341 1
4 Backrest cushion cover w/velcro. Left. 41342 1

NO. Date Rev.
SP164 11.06.09 0



Seating system FA Backrest

Position Description Item no. Pcs. pr. chair Price

1 Seat cushion adjustable 35 - 44 cm complete. Easy care. 42556 1

1 Seat cushion adjustable 44 - 53 cm complete. Easy care. 42557 1

2 Seat cushion upper part cover 35 - 44 cm. Easy care. 42552 1

2 Seat cushion upper part cover 44 - 53 cm. Easy care. 42553 1

3 Seat cushion half cover 35 - 44 cm. Left. Easy care. 42530 1

3 Seat cushion half cover 44 - 53 cm. Left. Easy care. 42532 1

4 Seat cushion half cover 35 - 44 cm. Right. Easy care. 42529 1

4 Seat cushion half cover 44 - 53 cm. Right. Easy care. 42531 1

-39- 

1

2

3

4

Position Description Item no. Pcs. pr. chair Price
1 Seat cushion adjustable 35-44cm cmpl. Easy care. 42556 1
1 Seat cushion adjustable 44-53cm cmpl. Easy care. 42557 1
2 Seat cushion upper part cover 35-44cm. Easy care. 42552 1
2 Seat cushion upper part cover 44-53cm. Easy care. 42553 1
3 Seat cushion half cover 35-44cm. Left. Easy care. 42530 1
3 Seat cushion half cover 44-53cm. Left. Easy care. 42532 1
4 Seat cushion half cover 35-44cm. Right. Easy care. 42529 1
4 Seat cushion half cover 44-53cm. Right. Easy care. 42531 1

NO. Date Rev.
SP165 11.06.09 0



Backrest cushion Uno|Back

Description 3D Cover EasyCare Cover

Complete Outer cover Complete Outer cover

Item no. Price Item no. Price Item no. Price Item no. Price

 Width: 35 cm Height: 50 cm 344701 344801 344901 345001

 Width: 38-40 cm Height: 50 cm 344702 344802 344902 345002

 Width: 43-45 cm Height: 50 cm 344703 344803 344903 345003

 Width: 50 cm Height: 50 cm 344704 344804 344904 345004

 Width: 55 cm Height: 50 cm 344705 344805 344905 345005

 Width: 60 cm Height: 50 cm 344706 344806 344906 345006

-40- 

1

2

Position Description Item no. Pieces per chair Service kit
1 Uno back, Easy care 35cm 1
1 Uno back, Easy care 40cm 1
1 Uno back, Easy care 43cm 1
1 Uno back, Easy care 45cm 1
1 Uno back, Easy care 50cm 1
1 Uno back, Easy care 55cm 1
1 Uno back, Easy care 60cm 1
1 Uno back, Mars 35cm 3735035 1
1 Uno back, Mars 40cm 3735040 1
1 Uno back, Mars 43cm 3735043 1
1 Uno back, Mars 45cm 3735045 1
1 Uno back, Mars 50cm 3735050 1
1 Uno back, Mars 55cm 3735055 1
1 Uno back, Mars 60cm 3735060 1
2 Uno back cover, Easy care 35cm 1
2 Uno back cover, Easy care 40cm 1
2 Uno back cover, Easy care 43cm 1
2 Uno back cover, Easy care 45cm 1
2 Uno back cover, Easy care 50cm 1
2 Uno back cover, Easy care 55cm 1
2 Uno back cover, Easy care 60cm 1
2 Uno back cover, Mars 35cm 3745035 1
2 Uno back cover, Mars 40cm 3745040 1
2 Uno back cover, Mars 43cm 3745043 1
2 Uno back cover, Mars 45cm 3745045 1
2 Uno back cover, Mars 50cm 3745050 1
2 Uno back cover, Mars 55cm 3745055 1
2 Uno back cover, Mars 60cm 3745060 1

NO. Date Rev.
SP041 20.08.07 A



Description 3D Cover EasyCare Cover

Complete Outer cover Complete Outer cover

Item no. Price Item no. Price Item no. Price Item no. Price

Width: 35 cm Height: 48 cm 303001 303101 303201 303301

Width: 38-40 cm Height: 48 cm 303002 303102 303202 303302

Width: 43-45 cm Height: 48 cm 303003 303103 303203 303303

Width: 50 cm Height: 48 cm 303004 303104 303204 303304

Width: 55 cm Height: 48 cm 303005 303105 303205 303305

Width: 60 cm Height: 48 cm 303006 303106 303206 303306

Width: 65 cm Height: 48 cm 303007 303107 303207 303307

Width: 70 cm Height: 48 cm 303008 303108 303208 303308

Width: 75 cm Height: 48 cm 303009 303109 303209 303309

Width: 35 cm Height: 60 cm 303010 303110 303210 303310

Width: 38-40 cm Height: 60 cm 303011 303111 303211 303311

Width: 43-45 cm Height: 60 cm 303012 303112 303212 303312

Width: 50 cm Height: 60 cm 303013 303113 303213 303313

Width: 55 cm Height: 60 cm 303014 303114 303214 303314

Width: 60 cm Height: 60 cm 303015 303115 303215 303315

Backrest cushion VB Smart

-41- 

1

2

Position Description Item no. Pieces per chair Service kit
1 Uno back, Easy care 35cm 1
1 Uno back, Easy care 40cm 1
1 Uno back, Easy care 43cm 1
1 Uno back, Easy care 45cm 1
1 Uno back, Easy care 50cm 1
1 Uno back, Easy care 55cm 1
1 Uno back, Easy care 60cm 1
1 Uno back, Mars 35cm 3735035 1
1 Uno back, Mars 40cm 3735040 1
1 Uno back, Mars 43cm 3735043 1
1 Uno back, Mars 45cm 3735045 1
1 Uno back, Mars 50cm 3735050 1
1 Uno back, Mars 55cm 3735055 1
1 Uno back, Mars 60cm 3735060 1
2 Uno back cover, Easy care 35cm 1
2 Uno back cover, Easy care 40cm 1
2 Uno back cover, Easy care 43cm 1
2 Uno back cover, Easy care 45cm 1
2 Uno back cover, Easy care 50cm 1
2 Uno back cover, Easy care 55cm 1
2 Uno back cover, Easy care 60cm 1
2 Uno back cover, Mars 35cm 3745035 1
2 Uno back cover, Mars 40cm 3745040 1
2 Uno back cover, Mars 43cm 3745043 1
2 Uno back cover, Mars 45cm 3745045 1
2 Uno back cover, Mars 50cm 3745050 1
2 Uno back cover, Mars 55cm 3745055 1
2 Uno back cover, Mars 60cm 3745060 1

NO. Date Rev.
SP041 20.08.07 A



Description 3D Cover

Complete Outer cover

Item no. Price Item no. Price

 Width: 35 cm Height: 48 cm 313401 313501

 Width: 38-40 cm Height: 48 cm 313402 313502

 Width: 43-45 cm Height: 48 cm 313403 313503

 Width: 50 cm Height: 48 cm 313404 313504

 Width: 55 cm Height: 48 cm 313405 313505

 Width: 60 cm Height: 48 cm 313406 313506

 Width: 65 cm Height: 48 cm 313407 313507

 Width: 70 cm Height: 48 cm 313408 313508

 Width: 75 cm Height: 48 cm 313409 313509

Width: 35 cm Height: 60 cm 313410 313510

 Width: 38-40 cm Height: 60 cm 313411 313511

 Width: 43-45 cm Height: 60 cm 313412 313512

 Width: 50 cm Height: 60 cm 313413 313513

 Width: 55 cm Height: 60 cm 313414 313514

 Width: 60 cm Height: 60 cm 313415 313515

Description EasyCare Cover ClimaTherm Cover

Complete Outer cover Complete Outer cover

Item no. Price Item no. Price Item no. Price Item no. Price

 Width: 35 cm Height: 48 cm 313601 313701 313801 313901

 Width: 38-40 cm Height: 48 cm 313602 313702 313802 313902

 Width: 43-45 cm Height: 48 cm 313603 313703 313803 313903

 Width: 50 cm Height: 48 cm 313604 313704 313804 313904

 Width: 55 cm Height: 48 cm 313605 313705 313805 313905

 Width: 60 cm Height: 48 cm 313606 313706 313806 313906

 Width: 65 cm Height: 48 cm 313607 313707 313807 313907

 Width: 70 cm Height: 48 cm 313608 313708 313808 313908

 Width: 75 cm Height: 48 cm 313609 313709 313809 313909

Width: 35 cm Height: 60 cm 313610 313710 313810 313910

 Width: 38-40 cm Height: 60 cm 313611 313711 313811 313911

 Width: 43-45 cm Height: 60 cm 313612 313712 313812 313912

 Width: 50 cm Height: 60 cm 313613 313713 313813 313913

 Width: 55 cm Height: 60 cm 313614 313714 313814 313914

 Width: 60 cm Height: 60 cm 313615 313715 313815 313915

Backrest cushion VB Stabil

-42- 

1

2

Position Description Item no. Pieces per chair Service kit
1 Uno back, Easy care 35cm 1
1 Uno back, Easy care 40cm 1
1 Uno back, Easy care 43cm 1
1 Uno back, Easy care 45cm 1
1 Uno back, Easy care 50cm 1
1 Uno back, Easy care 55cm 1
1 Uno back, Easy care 60cm 1
1 Uno back, Mars 35cm 3735035 1
1 Uno back, Mars 40cm 3735040 1
1 Uno back, Mars 43cm 3735043 1
1 Uno back, Mars 45cm 3735045 1
1 Uno back, Mars 50cm 3735050 1
1 Uno back, Mars 55cm 3735055 1
1 Uno back, Mars 60cm 3735060 1
2 Uno back cover, Easy care 35cm 1
2 Uno back cover, Easy care 40cm 1
2 Uno back cover, Easy care 43cm 1
2 Uno back cover, Easy care 45cm 1
2 Uno back cover, Easy care 50cm 1
2 Uno back cover, Easy care 55cm 1
2 Uno back cover, Easy care 60cm 1
2 Uno back cover, Mars 35cm 3745035 1
2 Uno back cover, Mars 40cm 3745040 1
2 Uno back cover, Mars 43cm 3745043 1
2 Uno back cover, Mars 45cm 3745045 1
2 Uno back cover, Mars 50cm 3745050 1
2 Uno back cover, Mars 55cm 3745055 1
2 Uno back cover, Mars 60cm 3745060 1

NO. Date Rev.
SP041 20.08.07 A



Description 3D Cover

Complete Outer cover

Item no. Price Item no. Price

 Width: 35 cm Height: 48 cm 324001 324101

 Width: 38-40 cm Height: 48 cm 324002 324102

 Width: 43-45 cm Height: 48 cm 324003 324103

 Width: 50 cm Height: 48 cm 324004 324104

 Width: 55 cm Height: 48 cm 324005 324105

 Width: 60 cm Height: 48 cm 324006 324106

 Width: 65 cm Height: 48 cm 324007 324107

 Width: 70 cm Height: 48 cm 324008 324108

 Width: 75 cm Height: 48 cm 324009 324109

Width: 35 cm Height: 60 cm 324010 324110

 Width: 38-40 cm Height: 60 cm 324011 324111

 Width: 43-45 cm Height: 60 cm 324012 324112

 Width: 50 cm Height: 60 cm 324013 324113

 Width: 55 cm Height: 60 cm 324014 324114

 Width: 60 cm Height: 60 cm 324015 324115

Description EasyCare Cover ClimaTherm Cover

Complete Outer cover Complete Outer cover

Item no. Price Item no. Price Item no. Price Item no. Price

 Width: 35 cm Height: 48 cm 324201 324301 324401 324501

 Width: 38-40 cm Height: 48 cm 324202 324302 324402 324502

 Width: 43-45 cm Height: 48 cm 324203 324303 324403 324503

 Width: 50 cm Height: 48 cm 324204 324304 324404 324504

 Width: 55 cm Height: 48 cm 324205 324305 324405 324505

 Width: 60 cm Height: 48 cm 324206 324306 324406 324506

 Width: 65 cm Height: 48 cm 324207 324307 324407 324507

 Width: 70 cm Height: 48 cm 324208 324308 324408 324508

 Width: 75 cm Height: 48 cm 324209 324309 324409 324509

Width: 35 cm Height: 60 cm 324210 324310 324410 324510

 Width: 38-40 cm Height: 60 cm 324211 324311 324411 324511

 Width: 43-45 cm Height: 60 cm 324212 324312 324412 324512

 Width: 50 cm Height: 60 cm 324213 324313 324413 324513

 Width: 55 cm Height: 60 cm 324214 324314 324414 324514

 Width: 60 cm Height: 60 cm 324215 324315 324415 324515

Backrest cushion VB Super Stabil

-43- 

1

2

Position Description Item no. Pieces per chair Service kit
1 Uno back, Easy care 35cm 1
1 Uno back, Easy care 40cm 1
1 Uno back, Easy care 43cm 1
1 Uno back, Easy care 45cm 1
1 Uno back, Easy care 50cm 1
1 Uno back, Easy care 55cm 1
1 Uno back, Easy care 60cm 1
1 Uno back, Mars 35cm 3735035 1
1 Uno back, Mars 40cm 3735040 1
1 Uno back, Mars 43cm 3735043 1
1 Uno back, Mars 45cm 3735045 1
1 Uno back, Mars 50cm 3735050 1
1 Uno back, Mars 55cm 3735055 1
1 Uno back, Mars 60cm 3735060 1
2 Uno back cover, Easy care 35cm 1
2 Uno back cover, Easy care 40cm 1
2 Uno back cover, Easy care 43cm 1
2 Uno back cover, Easy care 45cm 1
2 Uno back cover, Easy care 50cm 1
2 Uno back cover, Easy care 55cm 1
2 Uno back cover, Easy care 60cm 1
2 Uno back cover, Mars 35cm 3745035 1
2 Uno back cover, Mars 40cm 3745040 1
2 Uno back cover, Mars 43cm 3745043 1
2 Uno back cover, Mars 45cm 3745045 1
2 Uno back cover, Mars 50cm 3745050 1
2 Uno back cover, Mars 55cm 3745055 1
2 Uno back cover, Mars 60cm 3745060 1

NO. Date Rev.
SP041 20.08.07 A



3D cover

Description Complete Outer cover

Item no. Price Item no. Price

Width: 25 cm Depth: 30 cm 171801 172201

Width: 30 cm Depth: 30 cm 171802 172202

Width: 30 cm Depth: 35 cm 171803 172203

Width: 35 cm Depth: 35 cm 171804 172204

Width: 35 cm Depth: 40 cm 171805 172205

Width: 35 cm Depth: 45 cm 171806 172206

Width: 35 cm Depth: 50 cm 171807 172207

Width: 38 cm Depth: 40 cm 171808 172208

Width: 38 cm Depth: 45 cm 171809 172209

Width: 38 cm Depth: 50 cm 171810 172210

Width: 38 cm Depth: 55 cm 171811 172211

Width: 38 cm Depth: 60 cm 171845 172245

Width: 40 cm Depth: 40 cm 171812 172212

Width: 40 cm Depth: 45 cm 171813 172213

Width: 40 cm Depth: 50 cm 171814 172214

Width: 40 cm Depth: 55 cm 171815 172215

Width: 40 cm Depth: 60 cm 171846 172246

Width: 43 cm Depth: 40 cm 171816 172216

Width: 43 cm Depth: 45 cm 171817 172217

Width: 43 cm Depth: 50 cm 171818 172218

Width: 43 cm Depth: 55 cm 171819 172219

Width: 43 cm Depth: 60 cm 171849 172249

Width: 45 cm Depth: 40 cm 171820 172220

Width: 45 cm Depth: 45 cm 171821 172221

Width: 45 cm Depth: 50 cm 171822 172222

Width: 45 cm Depth: 55 cm 171823 172223

Width: 45 cm Depth: 60 cm 171847 172247

Width: 50 cm Depth: 40 cm 171824 172224

Width: 50 cm Depth: 45 cm 171825 172225

Width: 50 cm Depth: 50 cm 171826 172226

Width: 50 cm Depth: 55 cm 171827 172227

Width: 50 cm Depth: 60 cm 171848 172248

Width: 55 cm Depth: 45 cm 171828 172228

Width: 55 cm Depth: 50 cm 171829 172229

Width: 55 cm Depth: 55 cm 171830 172230

Width: 55 cm Depth: 60 cm 171831 172231

Width: 60 cm Depth: 45 cm 171832 172232

Width: 60 cm Depth: 50 cm 171833 172233

Width: 60 cm Depth: 55 cm 171834 172234

Width: 60 cm Depth: 60 cm 171835 172235

Seat cushion Uno|Seat 

-44- 

1

2

Position Description Item no. Pieces per chair Service kit
1 Seat cushion, Mars 35cm 1
1 Seat cushion, Mars 40cm 1
1 Seat cushion, Mars 43cm 1
1 Seat cushion, Mars 45cm 1
1 Seat cushion, Mars 50cm 1
1 Seat cushion, Mars 55cm 1
1 Seat cushion, Mars 60cm 1
2 Seat cushion cover, Mars 35cm 3533550 1
2 Seat cushion cover, Mars 40cm 3534050 1
2 Seat cushion cover, Mars 43cm 3534350 1
2 Seat cushion cover, Mars 45cm 3534550 1
2 Seat cushion cover, Mars 50cm 3535050 1
2 Seat cushion cover, Mars 55cm 3535550 1
2 Seat cushion cover, Mars 60cm 3536050 1

NO. Date Rev.
SP042 20.08.07 A



EasyCare cover

Description Complete Outer cover Complete  
with extra cover (Mars)

Item no. Price Item no. Price Item no. Price

Width: 25 cm Depth: 30 cm 172001 172101 171901

Width: 30 cm Depth: 30 cm 172002 172102 171902

Width: 30 cm Depth: 35 cm 172003 172103 171903

Width: 35 cm Depth: 35 cm 172004 172104 171904

Width: 35 cm Depth: 40 cm 172005 172105 171905

Width: 35 cm Depth: 45 cm 172006 172106 171906

Width: 35 cm Depth: 50 cm 172007 172107 171907

Width: 38 cm Depth: 40 cm 172008 172108 171908

Width: 38 cm Depth: 45 cm 172009 172109 171909

Width: 38 cm Depth: 50 cm 172010 172110 171910

Width: 38 cm Depth: 55 cm 172011 172111 171911

Width: 38 cm Depth: 60 cm 172045 172145 171945

Width: 40 cm Depth: 40 cm 172012 172112 171912

Width: 40 cm Depth: 45 cm 172013 172113 171913

Width: 40 cm Depth: 50 cm 172014 172114 171914

Width: 40 cm Depth: 55 cm 172015 172115 171915

Width: 40 cm Depth: 60 cm 172046 172146 171946

Width: 43 cm Depth: 40 cm 172016 172116 171916

Width: 43 cm Depth: 45 cm 172017 172117 171917

Width: 43 cm Depth: 50 cm 172018 172118 171918

Width: 43 cm Depth: 55 cm 172019 172119 171919

Width: 43 cm Depth: 60 cm 172049 172149 171949

Width: 45 cm Depth: 40 cm 172020 172120 171920

Width: 45 cm Depth: 45 cm 172021 172121 171921

Width: 45 cm Depth: 50 cm 172022 172122 171922

Width: 45 cm Depth: 55 cm 172023 172123 171923

Width: 45 cm Depth: 60 cm 172047 172147 171947

Width: 50 cm Depth: 40 cm 172024 172124 171924

Width: 50 cm Depth: 45 cm 172025 172125 171925

Width: 50 cm Depth: 50 cm 172026 172126 171926

Width: 50 cm Depth: 55 cm 172027 172127 171927

Width: 50 cm Depth: 60 cm 172048 172148 171948

Width: 55 cm Depth: 45 cm 172028 172128 171928

Width: 55 cm Depth: 50 cm 172029 172129 171929

Width: 55 cm Depth: 55 cm 172030 172130 171930

Width: 55 cm Depth: 60 cm 172031 172131 171931

Width: 60 cm Depth: 45 cm 172032 172132 171932

Width: 60 cm Depth: 50 cm 172033 172133 171933

Width: 60 cm Depth: 55 cm 172034 172134 171934

Width: 60 cm Depth: 60 cm 172035 172135 171935

Seat cushion Uno|Seat

-45- 



Description EasyCare cover

Complete Outer cover

Item no. Price Item no. Price

Width: 25 cm Depth: 30 cm 161001 161101

Width: 30 cm Depth: 30 cm 161002 161102

Width: 30 cm Depth: 35 cm 161003 161103

Width: 35 cm Depth: 30 cm 161004 161104

Width: 35 cm Depth: 35 cm 161005 161105

Width: 35 cm Depth: 40 cm 161006 161106

Width: 35 cm Depth: 45 cm 161008 161107

Width: 35 cm Depth: 50 cm 161009 161108

Width: 38 cm Depth: 40 cm 161010 161109

Width: 38 cm Depth: 45 cm 161011 161110

Width: 38 cm Depth: 50 cm 161012 161111

Width: 38 cm Depth: 55 cm 161013 161112

Width: 38 cm Depth: 60 cm 161014 161113

Width: 40 cm Depth: 40 cm 161015 161114

Width: 40 cm Depth: 45 cm 161016 161115

Width: 40 cm Depth: 50 cm 161017 161116

Width: 40 cm Depth: 55 cm 161018 161117

Width: 40 cm Depth: 60 cm 161019 161118

Width: 43 cm Depth: 40 cm 161020 161119

Width: 43 cm Depth: 45 cm 161021 161120

Width: 43 cm Depth: 50 cm 161022 161121

Width: 43 cm Depth: 55 cm 161023 161122

Width: 43 cm Depth: 60 cm 161023 161123

Width: 45 cm Depth: 40 cm 161024 161124

Width: 45 cm Depth: 45 cm 161025 161125

Width: 45 cm Depth: 50 cm 161026 161126

Width: 45 cm Depth: 55 cm 161027 161127

Width: 45 cm Depth: 60 cm 161028 161128

Width: 50 cm Depth: 40 cm 161029 161129

Width: 50 cm Depth: 45 cm 161030 161130

Width: 50 cm Depth: 50 cm 161031 161131

Width: 50 cm Depth: 55 cm 161032 161132

Width: 50 cm Depth: 60 cm 161033 161133

Width: 55 cm Depth: 40 cm 161034 161134

Width: 55 cm Depth: 45 cm 161035 161135

Width: 55 cm Depth: 50 cm 161036 161136

Width: 55 cm Depth: 55 cm 161037 161137

Width: 55 cm Depth: 60 cm 161038 161138

Width: 60 cm Depth: 40 cm 161039 161139

Width: 60 cm Depth: 45 cm 161040 161140

Width: 60 cm Depth: 50 cm 161041 161141

Width: 60 cm Depth: 55 cm 161042 161142

Width: 60 cm Depth: 60 cm 161043 161143

Seat cushion VB Sit

-46- 



Description 3D cover

Complete Outer cover Complete  
with extra cover

Item no. Price Item no. Price Item no. Price

Width: 25 cm Depth: 30 cm 160601 160701 160501

Width: 30 cm Depth: 30 cm 160602 160702 160502

Width: 30 cm Depth: 35 cm 160603 160703 160503

Width: 30 cm Depth: 30 cm 160650 160750 160550

Width: 35 cm Depth: 35 cm 160604 160704 160504

Width: 35 cm Depth: 40 cm 160605 160705 160505

Width: 35 cm Depth: 45 cm 160606 160706 160506

Width: 35 cm Depth: 50 cm 160607 160707 160507

Width: 38 cm Depth: 40 cm 160608 160708 160508

Width: 38 cm Depth: 45 cm 160609 160709 160509

Width: 38 cm Depth: 50 cm 160610 160710 160510

Width: 38 cm Depth: 55 cm 160611 160711 160511

Width: 38 cm Depth: 60 cm 1606445 160745 160545

Width: 40 cm Depth: 40 cm 160612 160712 160512

Width: 40 cm Depth: 45 cm 160613 160713 160513

Width: 40 cm Depth: 50 cm 160614 160714 160514

Width: 40 cm Depth:  55 cm 160615 160715 160515

Width: 40 cm Depth:  60 cm 160646 160746 160546

Width: 43 cm Depth: 40 cm 160616 160716 160516

Width: 43 cm Depth: 45 cm 160617 160717 160517

Width: 43 cm Depth: 50 cm 160618 160718 160518

Width: 43 cm Depth: 55 cm 160619 160719 160519

Width: 43 cm Depth: 60 cm 160649 160749 160549

Width: 45 cm Depth: 40 cm 160620 160720 160520

Width: 45 cm Depth: 45 cm 160621 160721 160521

Width: 45 cm Depth: 50 cm 160622 160722 160522

Width: 45 cm Depth: 55 cm 160623 160723 160523

Width: 45 cm Depth: 60 cm 160647 160747 160547

Width: 50 cm Depth: 40 cm 160624 160724 160524

Width: 50 cm Depth: 45 cm 160625 160725 160525

Width: 50 cm Depth: 50 cm 160626 160726 160526

Width: 50 cm Depth: 55 cm 160627 160727 160527

Width: 50 cm Depth: 60 cm 160648 160748 160548

Width: 55 cm Depth: 45 cm 160628 160728 160528

Width: 55 cm Depth: 50 cm 160629 160729 160529

Width: 55 cm Depth: 55 cm 160630 160730 160530

Width: 55 cm Depth: 60 cm 160631 160731 160531

Width: 60 cm Depth: 45 cm 160632 160732 160532

Width: 60 cm Depth: 50 cm 160633 160733 160533

Width: 60 cm Depth: 55 cm 160634 160734 160534

Width: 60 cm Depth: 60 cm 160635 160735 160535

Seat cushion VB Sit

-47- 



Description Complete Outer cover Complete with  
extra outer cover

Item no. Price Item no. Price Item no. Price

Width: 25 cm Depth: 30 cm 100201 100301 100101

Width: 30 cm Depth: 30 cm 100202 100302 100102

Width: 30 cm Depth: 35 cm 100203 100303 100103

Width: 35 cm Depth: 35 cm 100204 100304 100104

Width: 35 cm Depth: 40 cm 100205 100305 100105

Width: 35 cm Depth: 45 cm 100206 100306 100106

Width: 35 cm Depth: 50 cm 100207 100307 100107

Width: 38 cm Depth: 40 cm 100208 100308 100108

Width: 38 cm Depth: 45 cm 100209 100309 100109

Width: 38 cm Depth: 50 cm 100210 100310 100110

Width: 38 cm Depth: 55 cm 100211 100311 100111

Width: 40 cm Depth: 40 cm 100212 100312 100112

Width: 40 cm Depth: 45 cm 100213 100313 100113

Width: 40 cm Depth: 50 cm 100214 100314 100114

Width: 40 cm Depth: 55 cm 100215 100315 100115

Width: 43 cm Depth: 40 cm 100216 100316 100116

Width: 43 cm Depth: 45 cm 100217 100317 100117

Width: 43 cm Depth: 50 cm 100218 100318 100118

Width: 43 cm Depth: 55 cm 100219 100319 100119

Width: 45 cm Depth: 40 cm 100220 100320 100120

Width: 45 cm Depth: 45 cm 100221 100321 100121

Width: 45 cm Depth: 50 cm 100222 100322 100122

Width: 45 cm Depth: 55 cm 100223 100323 100123

Width: 50 cm Depth: 40 cm 100224 100324 100124

Width: 50 cm Depth: 45 cm 100225 100325 100125

Width: 50 cm Depth: 50 cm 100226 100326 100126

Width: 50 cm Depth: 55 cm 100227 100327 100127

Width: 55 cm Depth: 45 cm 100228 100328 100128

Width: 55 cm Depth: 50 cm 100229 100329 100129

Width: 55 cm Depth: 55 cm 100230 100330 100130

Width: 55 cm Depth: 60 cm 100231 100331 100131

Width: 60 cm Depth: 45 cm 100232 100332 100132

Width: 60 cm Depth: 50 cm 100233 100333 100133

Width: 60 cm Depth: 55 cm 100234 100334 100134

Width: 60 cm Depth: 60 cm 100235 100335 100135

Seat cushion VB Royal

-48- 

1

2

Position Description Item no. Pieces per chair Service kit
1 Seat cushion, Mars 35cm 1
1 Seat cushion, Mars 40cm 1
1 Seat cushion, Mars 43cm 1
1 Seat cushion, Mars 45cm 1
1 Seat cushion, Mars 50cm 1
1 Seat cushion, Mars 55cm 1
1 Seat cushion, Mars 60cm 1
2 Seat cushion cover, Mars 35cm 3533550 1
2 Seat cushion cover, Mars 40cm 3534050 1
2 Seat cushion cover, Mars 43cm 3534350 1
2 Seat cushion cover, Mars 45cm 3534550 1
2 Seat cushion cover, Mars 50cm 3535050 1
2 Seat cushion cover, Mars 55cm 3535550 1
2 Seat cushion cover, Mars 60cm 3536050 1

NO. Date Rev.
SP042 20.08.07 A



3D cover

Description Complete Outer cover Complete  
with extra cover

Item no. Price Item no. Price Item no. Price

Width: 25 cm Depth: 30 cm 141301 141401 141201

Width: 30 cm Depth: 30 cm 141302 141402 141202

Width: 30 cm Depth: 35 cm 141303 141403 141203

Width: 35 cm Depth: 30 cm 141350 141450 141250

Width: 35 cm Depth: 35 cm 141304 141404 141204

Width: 35 cm Depth: 40 cm 141305 141405 141205

Width: 35 cm Depth: 45 cm 141306 141406 141206

Width: 35 cm Depth: 50 cm 141307 141407 141207

Width: 38 cm Depth: 40 cm 141308 141408 141208

Width: 38 cm Depth: 45 cm 141309 141409 141209

Width: 38 cm Depth: 50 cm 141310 141410 141210

Width: 38 cm Depth: 55 cm 141311 141411 141211

Width: 38 cm Depth: 60 cm 141345 141445 141245

Width: 40 cm Depth: 40 cm 141312 141412 141212

Width: 40 cm Depth: 45 cm 141313 141413 141213

Width: 40 cm Depth: 50 cm 141314 141414 141214

Width: 40 cm Depth: 55 cm 141315 141415 141215

Width: 40 cm Depth: 60 cm 141346 141446 141246

Width: 43 cm Depth: 40 cm 141316 141416 141216

Width: 43 cm Depth: 45 cm 141317 141417 141217

Width: 43 cm Depth: 50 cm 141318 141418 141218

Width: 43 cm Depth: 55 cm 141319 141419 141219

Width: 43 cm Depth: 60 cm 141349 141449 141249

Width: 45 cm Depth: 40 cm 141320 141420 141220

Width: 45 cm Depth: 45 cm 141321 141421 141221

Width: 45 cm Depth: 50 cm 141322 141422 141222

Width: 45 cm Depth: 55 cm 141323 141423 141223

Width: 45 cm Depth: 60 cm 141347 141447 141247

Width: 50 cm Depth: 40 cm 141324 141424 141224

Width: 50 cm Depth: 45 cm 141325 141425 141225

Width: 50 cm Depth: 50 cm 141326 141426 141226

Width: 50 cm Depth: 55 cm 141327 141427 141227

Width: 50 cm Depth: 60 cm 141348 141448 141248

Width: 55 cm Depth: 45 cm 141328 141428 141228

Width: 55 cm Depth: 50 cm 141329 141429 141229

Width: 55 cm Depth: 55 cm 141330 141430 141230

Width: 55 cm Depth: 60 cm 141348 141448 141248

Width: 60 cm Depth: 40 cm 141331 141431 141231

Width: 60 cm Depth: 45 cm 141332 141432 141232

Width: 60 cm Depth: 50 cm 141333 141433 141233

Width: 60 cm Depth: 55 cm 141334 141434 141234

Width: 60 cm Depth: 60 cm 141335 141435 141235

Seat cushion VB Venti

-49- 

1

2

Position Description Item no. Pieces per chair Service kit
1 Seat cushion, Mars 35cm 1
1 Seat cushion, Mars 40cm 1
1 Seat cushion, Mars 43cm 1
1 Seat cushion, Mars 45cm 1
1 Seat cushion, Mars 50cm 1
1 Seat cushion, Mars 55cm 1
1 Seat cushion, Mars 60cm 1
2 Seat cushion cover, Mars 35cm 3533550 1
2 Seat cushion cover, Mars 40cm 3534050 1
2 Seat cushion cover, Mars 43cm 3534350 1
2 Seat cushion cover, Mars 45cm 3534550 1
2 Seat cushion cover, Mars 50cm 3535050 1
2 Seat cushion cover, Mars 55cm 3535550 1
2 Seat cushion cover, Mars 60cm 3536050 1

NO. Date Rev.
SP042 20.08.07 A



Seat cushion Bondi coxit 3D

Description Complete Outer cover

Item no. Price Item no. Price

Width: 35 cm Depth: 40 cm cut right 151627 151727

Width: 35 cm Depth: 40 cm cut left 151628 151728

Width: 35 cm Depth: 45 cm cut right 151629 151729

Width: 35 cm Depth: 45 cm cut left 151630 151730

Width: 35 cm Depth: 50 cm cut right 151631 151731

Width: 35 cm Depth: 50 cm cut left 151632 151732

Width: 38 cm Depth: 45 cm cut right 151601 151701

Width: 38 cm Depth: 45 cm cut left 151602 151702

Width: 38 cm Depth: 50 cm cut right 151603 151703

Width: 38 cm Depth: 50 cm cut left 151604 151704

Width: 40 cm Depth: 40 cm cut right 151605 151705

Width: 40 cm Depth: 40 cm cut left 151606 151706

Width: 40 cm Depth: 45 cm cut right 151607 151707

Width: 40 cm Depth: 45 cm cut left 151608 151708

Width: 40 cm Depth: 50 cm cut right 151609 151709

Width: 40 cm Depth: 50 cm cut left 151610 151710

Width: 43 cm Depth: 45 cm cut right 151611 151711

Width: 43 cm Depth: 45 cm cut left 151612 151712

Width: 43 cm Depth: 50 cm cut right 151613 151713

Width: 43 cm Depth: 50 cm cut left 151614 151714

Width: 45 cm Depth: 45 cm cut right 151615 151715

Width: 45 cm Depth: 45 cm cut left 151616 151716

Width: 45 cm Depth: 50 cm cut right 151617 151717

Width: 45 cm Depth: 50 cm cut left 151618 151718

Width: 50 cm Depth: 45 cm cut right 151619 151719

Width: 50 cm Depth: 45 cm cut left 151620 151720

Width: 50 cm Depth: 50 cm cut right 151621 151721

Width: 50 cm Depth: 50 cm cut left 151622 151722

Width: 55 cm Depth: 55 cm cut right 151623 151723

Width: 55 cm Depth: 55 cm cut left 151624 151724

Width: 60 cm Depth: 55 cm cut right 151625 151725

Width: 60 cm Depth: 55 cm cut left 151626 151726

-50- 


